Jonathan Harston, notes on evidence to Boundary Review evidence session.

Hello. My name is Jonathan Harston. I put in submissions to the 2004 ward review, I do a lot of work with maps and mapping, particularly with how community groupings relate to their geography, and I was also a councillor from 1999 to 2010.

This is the first stage of the review to decide and recommend the size of the city council, and consequently the number of wards. The total number of councillors and wards then impacts on the next stage of drawing up wards to fit that number of councillors, so a better decision on the number of councillors makes it easier in the second stage to draw up sensible wards.

There is no average population per councillor, Barnsley has about 7,500 electors per 3-member ward, Birmingham has about 20,000 electors per 3-member ward. If Sheffield had the same councillor ratio as Barnsley we would have about 150 councillors.

The number of councillors in metropolitan councils, however, is broadly proportional to the square root of the population. Sheffield is about four times as big as Barnsley and has about twice as many councillors – the square root of four. Sheffield is about twice as big as Rotherham and has about one and a half times as many councillors – the square root of two. Birmingham is about twice the size of Sheffield and has about one and a half times as many councillors – the square root of two.

Consequently, the number of councillors Sheffield currently has fits well into that, and so should remain more-or-less about what it has at the moment – something in the region of 84 councillors. With three-member wards that is around about 28 or so wards.

A reduction in the number of councillors can only be an option if there is a reduction in the functions and responsibilities of councils. The only change that would make sense is if Sheffield adopted a directly elected executive mayor, taking away the most of the executive functions from councillors. Liverpool and Doncaster have moved to having a directly-elected executive mayor, and that would be an appropriate change to decide on a reduction in councillors.

Also, a reduction in the number of councillors brings with it larger wards. Sheffield’s wards have about 16,000 electors in them, the larger a ward, the more residents are distanced from their elected representatives, and the harder it is for elected representative to work their wards. Councillors don’t have individual paid staff to deal with their casework as even backbench MPs do, as a councillor I shared two secretaries with more than 30 other councillors. It would have been luxury to have two or three paid staff members all to myself as a backbencher.

Whatever wards Sheffield has must necessarily fit around the immovable geography of the city. Sheffield is immovably grouped into four major sectors by the four main river valleys and ignoring that results in nonsensical grouping and splitting of communities and allows each sector to be reviewed without changes impacting on all of the rest of the city. The wards before 2004 show all the signs that the 1980 review was hastily thrown together with no regard for communities or geography. Before 2004 Hillsborough was split in two, Handsworth was split in three, Crookes was even split in four.

Everybody who put together the wards in 2004 worked well to get probably the best set of wards Sheffield has ever had with only a few splits such as Shiregreen and the northern edge of Handsworth. This review shouldn’t undo that good work, but has the opportunity to build on it.

This review has been triggered because three wards have now got too far away from the average size for the whole city: Darnall, Burngreave and most drastically Central. Every other ward is close to its correct size, and it would be better to find a model that doesn’t require 25 wards to be thrown away just because 3 others have thrown the balance out. A full council size close the the current size would allow that, leaving the majority of adjustment around Darnall, Burngreave and Central.

That would also give a useful continuity with almost all of the existing wards. We’ve had the current wards for nine years, but I still see reports and statistics based on the wards from before 2004. Chopping and changing after only ten years make that worse.

Bearing in mind Sheffield’s geography, a full council of between about 27 and 29 three-member wards results in being able to easily fit a whole number of wards in each sector of the city without unduly splitting up communities, and gives the ability to leave the 25 balanced wards almost unchanged.

* 27 three-member wards could easily be drawn up, with the only changes outside Central, Burngreave and Darnall being removing one ward from the south-east and shuffling the remaining south-east wards around a bit to compensate.

* 29 three-member wards could also be easily drawn up with the only changes outside Central, Burngreave and Darnall being to add one ward to the city-centre/south-west sector to compensate for Central ward being too big.

28 wards is hard to do without having lots of left-over bits artificially added on here and there to make up numbers.

So, I recommend a council size of either 29 or 27 three-member wards.

Before this review metropolitan councils were forced to use three-member wards. At this review the rules have been relaxed to allow two-member and one-member wards. I believe that three-member wards are the best arrangement for councils. You have a small team in each ward and a spread of skills. It provides a spread of contacts for local residents, for example, if one councillor is a member of the licensing committee (or Cabinet) and so cannot directly help with a planning or licensing query because they would be deciding on the application, the resident could go to another local councillor.

In the 2002 review I wrote recommending that the rigid three-member rule be relaxed for rural areas as it could force some very strange wards. The option of two-member city council wards in rural areas would allow for flexibility to fit the community geography more sensibly.

It should be the recommendation of the parish councils in a rural area as to whether they feel they would be better served by three 2-member city wards instead of two 3-member city wards. Otherwise, consistent 3-member wards should be used across the city.

Single-member wards are not suitable for urban councils like Sheffield, they should only be used as a last resort in large rural areas with very little population where a multi-member ward would be geographically unmanageable.

Some respondants suggest that there should be about a 10% increase in the number of councillors. I am reluctant to endorse that as it would require a wholesale redrawing of every ward in the city. However, I have looked at the figures for increasing the number of councillors, and 31 three-member wards would be the best fit for the city, giving a full council of 93 members. If you wanted to increase the number of councillors, even though it would mean redrawing every ward in the city, then 31 three-member wards would be the best fit.

I’ve tried to remember the extra bits from my notes at the meeting:

4-yearly elections.

Before I was a councillor I prefered annual elections, this was purely from a personal point of view that if I failed to get elected one year I could have another chance the next year. When I became a councillor I changed my mind and became in favour of 4-yearly all-up elections. In annual elections as soon as the election is over your party colleages are immediately dragging you back into election mode for the election in 11 months’ time, and the public see councillors continually fighting elections instead of getting on with the job of being a councillor, and I perceived it as encouraging activists who prefered leafleting rather than doing the job of being a councillor. With 4-yearly all-ups councillors and the council have more than three years to sit down and get on with the job the voters have given them.

Parish boundaries.

It is not possible for city ward boundaries to exactly be co-terminal with parish council boundaries, the parish council areas don’t have an electorate that is an exact multiple of a city council ward. As an example, for Ecclesfield to be exactly two city wards each would be about 13,000 which would require a full city council of about 35 wards. However, the best compromise is to ensure that parish council areas are entirely within as few city council wards as possible. The current arrangement gives that where, for example, Ecclesfield is entirely within two city council wards with just a little unparished area added to top up the numbers; similarly Stocksbridge and Bradfield are entirely within two city wards with just a little extra unparished area added. In both examples the extra unparished area added is a logical community continuation of the parished areas.

Population/electorate imbalance.

Some respondants have suggested that wards should contain a equal population, not just an equal electorate, citing under-registration in some wards. The law requires the review to use the registered electorate, which is a fairly consistant proportion of the population [in Sheffield very close to 73%-74% of the population are adults]. You cannot use percieved under-registration to justify a “small” ward on electorate figures because you believe there are people not on the register. Any count of whatever sector of the population is going to have errors somewhere, whether it being the ten-yearly census or the annual electoral register. I have found that since the upgrade to the council’s electorate database system and the introduction of the monthly rolling register [and updates from the coroner’s office notifying ERO of deaths] the register has become much more accurate and under-registration is much less of an issue. I remember in 1999 that the annual register in Park ward has a third of the electorate who were no longer there. This is no longer the case.

However, if you find a situation where, for example, a nicely drawn-up ward comes to 97% but you think that in reality it isn’t that small; and it is next to another ward that is, say, 103%, and trying to fix the 97% ward my swapping a suitable chunk of houses takes it too far back over 100%, you could chose that the acceptable solution is to keep the 97% ward next to the 103% ward as the imbalance is spread out across the whole are. But you cannot use perceived unregistration to chose to draw up undersized wards.

[It occurs to me to wonder how many ineligble adults are actually registered. In 1999 I found a large number of Chinese students on the electoral register, and the number of non-commonwealth students in the city has increased substantially.]
